
 

 

 

 

 

     WINCH MOUNT INSTALLATION INSTRUCTION 

04-06 Kawasaki KVF 700 4x4 / 02-03 KVF 650 Prairie 

                    04-05 Suzuki 700 Twin Peaks 

 

                                                                                                      NOTE: Fairlead and fairlead hardware are not included with kit 

 

 

Install the winch mount to the winch mount channel using the 5/16 x 1-1/4 bolts washers and nylock nuts.  Most of the 

time the motor for the winch will be to your left when sitting on the machine.  When looking at the machine from the 

front the left bolt goes down through the winch mount and the channel only and the right hand bolt goes through the 

front mounting hole in the winch base, then the winch mount, then the channel. Use one of the winch bolts provided 

with the winch to go through the rear hole in the winch base and the winch mount. 

 

Install the winch mount behind the front bumper per illustration using the 5/16 x 1 bolts, washers and flange nuts. 

Washers go on the bolt first before sliding in place through the frame. 

 

Plastic side shield may need to be trimmed for winch clearance. 

 

To install winch use hardware provided with winch. 

After winch is in place install fairlead with hardware 

Also provided with winch and wire per instructions.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

FOR QUESTION OR COMMENTS PLEASE CALL : 320-964-1616  (7:00 to 4:30 CST)                                            ISNT1539 

ITEM QTY. PART# DESCRIPTION

1 1 1539-1 Main Winch Mount Plate

2 1 1539-2 Winch Mount Channel

3 4 HDW2051 5/16 x 1 Hex Bolt

4 6 HDW9002 5/16 Flat Washer

5 4 HDW7058 5/16 Nylock Nut

6 2 HDW7056 5/16 Flange Nut

7 2 HDW2061 5/16 x 1-1/4 Hex Bolt


